
Fessing up : I messed up the formulas for how you  aot on  irneps

It's correct that Sky - { VT Ma
- Vt D¥

But  in the other case
,

somewhere between Vwswk - Okounkov
, ny notes

,

and

the board sore factors got dropped ,
It's correct that V#=SkVja¥a,Yt

is a  simultaneous  eigenvector  wl correct  eigenvdue .
However :

SKYKFVT - ak.it#skVT=(l-atIad2)VT-a¥ak✓skT

Not symmetric! Of course it  isn't ! V
,

and vs
.

,
must be orthogonal ,

so

A. Vt > =L SKY,sk⇒T¥,akp<¥7
+ ( Vs#Yskt )

Thus < kkt ,✓s⇒= '  -la#ek5
K

, tFy
. VT D¥
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Note : these formulas define  an Sn action on the fond

Span of tableau  on a skew diagram : complement of diagram
inside of A

.
Rented In

.

let Van be formal span of

tableaux wl the shape ,
wl he

Fax induced Sn - action .



Tengsubgroup= A Young ( or parabolic ) subgroup of Sn is the

subgroup that preserves the partition of GD into sub sets Y , ,
.

. .,Yn .

Of course
,

this subgroup is isomorphic to S#y
,

X5#× -  -  ' X§µn
,

and up

to inner awtorphsn , this only depends on the sites # Yi  up to permutation .

the can thus assume that 7i= # Yi give  a partition .
The Gutting subgroup  is

often denoted Sxcsn .

If  we don't assume Xi are ordered
,

these
give  a  composition

Treml The restriction of Vn
,

to Smxsnn is of the form

Ressnsxng.nl/x=QVm#Vqnw/ µ ranging owmtm

If µ¢7 ,
then Vania by convention

.

PI Let VIM be the span all vs where the first  m entries have

shape µ .

This is isomorphic to Vn # Van as a snxsnm - module

as He formulas show .

More generally , Resssynv,a=•Vm*VnM' Dxvmaia - -
- * Vane

. ,

where we Sun  over  nested diagrams µ ,cµ~c - - -

c.me . .ca ,
with

Miki . , having V ; boxes .

Lenny IF 7th is disconnected , the v. oh , then

Vaaitndssmnxs,±n✓v ,

# Vrz
.

PI
.

The span of tableaux wl a ,  . . ,
# YD in V

, and
all other entries in K  is isomorphic to a copy Of Vy

,
# Vh .

This induces a map Ind → Van ,
wwoh is surjective

,

since

these guys generate .

This is an  is since dimensions are the
sane : ( ¥,YT) . dink

,

. dink .
.


